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Molarity Practice ™ o

1. Calculate the molarity of the following solutions:

a) 45 gofNaaSO;m lSOmLofsolunon
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2. What is the concentration of sulphate ions, SO4?, in each of the following?

2) 0.75 M AL(SOu)s b) 1.35 M NazSO4
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4. Which of the following solutions has the highest concentration? Prove using calculations..

ZSgofCaChmmeofsoluﬂon B)20.9 g of Mglz in 35 mL
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- weon 5. How.many grams.of salt (NaCl) need to-be dissolved in-300-mL of solution-to-give youa—
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You are given the molarity and the liters, soﬁndthemoles
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9. A calcium chloride solution was prepared by dissolving 54.0g of calcium chloride in sufficient water
to make a final solution ofa.ool.wm{lthemnhggyoﬂhcwh!ﬂon?
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11, Az.m pleoanOkudholmdinwmwpmdma volume of exactly 200.0mL. What is

("')‘°°5\( 2cot) o-150M |

nnwmmudomoummsduﬂmmnqumdmmpﬁyomoomduwoy
(O O\G)MO\( 3 0.0100L = |Zo.omlL

13. What volume of a 1.80M of H2C03 8 5.008 of H2C03?
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